20224
4

ER &%

REEBHEI(T=R)EH FMHE-REXR

A

&

BRELEHMBICIIZANTSL

BERK%

ERE

] b B2
A
B IR 2K
E 4 RERELHE
# HERTAH
& MEF AR
S
R At =] 8 | 7 Ha
A CHES X
X ES 7}
g Ea #
A fi e B S
E A S
E X 34K 41 K 4 8
B B F K 7 A
# Rk X X
X ES 7
e EE| 7] SR - 2] 8|t EN
BEHE X [TEEE ] 9| H % [T ]
& [ 20| A ES
[T ] Ed X H5AVF] BERE =] BERE
H R R A [rE+N
A [TEEY ] X
X 4 7}
| 7 X
E BT AR ES
e st 3 T AH B
BE—R 8 B
RO BPTARE] 9
R —R 30
S E3 =i E3H BiE] E3H S
[} 0 [ [} i4 [ [}
[} 0 [ [} g [ [}
) ; #iV/0i ! #HIV/01 30 #HIV/01 : HOIV/01 P13 El 20 HHIV/01
EHIE D) #iV/0i WEEGEES T I0V/00 #HIV/01 EW #HIV/01 EI #HIV/01 WE RSBV el EDVA HHIV/01
T = <
105 | HE wasm| A1 wagm| [127] wegm| |7 sess| |22 R |yomgy| [28 ] HE BEER
IEREE BT B IENEA TG ST ] IEREA B EETE BT ] | B | [EIol BT ] IE1E EGIEEE EGIEEE IEREE BT BT B
[l ES 1 [HIPS 1 1 1 1 1 1] 7 1 [N E 1 FERX
28 1 AE 2 2 1 2 1 2[R 1 HEBAS 2 1
3|18 1 HRTRH 3% 1 3| £ 1 3| X 1 s|e] 1 3 1
41K 1 HRETRH 4|1&] 2 418 1 4 1 41E 1 4 1
5 [ 7 2 5% 1 BEA 518 1 5 1 5|8 1 5|8 1
AES 1 7 6| H 1 BHA 6 |k 1 6 [FEEN 6| A] 1 6| A 1
7 2 1Al 2 AE 7 1 7R 1 A 1
8 [ 4 1 BHA 8 | X 1 FHES 1 8 |8 1 8 |7 1 8 |7 1
9|8 1 BHA 9 |7 2 HES 9 | % 1 [HES 1 HES 1
10 [ 4% 1 MES 1 [ ES 1 10X 1 o[#] 1 10| # 1
1K 1 [ ES 1A 1 [ E 1 E 1 1l 1
12| k] 2 2% 1 12| A IAES 1 12| A 1 12| 8 1
[RHES 1 1318 1 13 & 1 13 & B3{AL 1 13] A 1
14 % 1 1wl Al 2 14] 7] 14 1 14k 1 14k 1
| 15| & 1 5]k i 2P iRAT [HES 1 1508 1 [HE 1 BERE [HE 1
16| B 1 16 | 7 2 SPHRAT 16| & 16| A 16| K 1 v SR B 16| K 1
17 A 1 [HES 1 s AT 17 £ 1 17 & 1 17 % 1 17 & 1 SRER
18] & 1 18] 2] 2 S fij T A 1 18] 7] 18] £ 1 18]+ 1
19|71 1 19 E 1 9] A [RES 1 3z 1908 1 198 1
20 [ K 1 20| B 1 20 | K 1 BESHE 20| & 20| A 1 20| A 1
21| &] 2 21 A] 2 21| 7} 1 H5ARVF 1 21 K 1 HARTRH 21| 8 1
22 [ £ 1 22| X 1 22 [ K 1 [REEN 1 22 [ 7} 1 HRTRH 22 7] 1 BARE
23 1 23 | % 1 23| & 1 23 [ H1 1 23| K| 2 €S
24 2 BARE PZAES 1 24| £ 1 1 PAES 1 HRTRH 24| & 1 P
25 1 5| & 2 BESE 25| A 1 25| £ 1 25| £ [l |
26 2 26| £ 1 26| A 1 1 26 [ B 1 26| B 1
27 1 27| B 1 27| X 1 271 A ¢ 271 A] 2
28 2 28| A 1 28 | J) 1 1 28 | K 1 Fst- AR 28 [ K 1
9 1 29 | K 1 x 1 9| k] 2
0 1 301 7K 1 E NES 1
1 2 EE 1 &l 2
™ L - il i i EFi BiEl ™
0 0 i 0 0 Y i8 0
[ [} § [} [} g ) 0
#DIV/0 #DIV /0 i0 #DIV /01 #DIV /01 0 #DIV/0i 70 #DIV /01
#DIV/0i #DIV/0 #DIV /01 #DIV /01 #DIV/0 #DIV /0! #DIV/0i #DIV/0! #DIV /01




